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- Place 0,1 0,2 0,3 0,4 etc. ... jusqua 0,9
- Place 010 0,20 030 0,40 etc. ... jusqua 0,90
-> Place 0,25 0, 14 0,43 0,52 0,59 0,75 0,83 0,02
< Compare en t'aidant de la ligne graduée: compléte par < ; = ou >
0.2 ... 0,4 0,3 ....... 0,2 0,30 ......... 0,50
0,2 0,14 043 ....... 0,5 0,2....... 0,20
0,02 ...... 0,2 0,20 ....... 0,02
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- Place 51 52 83 54 i 9.9
- Place 5 9110 520 5630 56540 ............. 6
- Place 5,15 5, 34 5,23 5,585 5,69 8,77 5,88
2 Compare en t'aidant de la ligne graduée:
B2 .cssine 54 - B 5.2 540 ........ 5.6
8,2 civenss 5,15 5,56........ B8



